WHRE ERVEREEXXLH ERIAR [HSESATARE

FELH (RiEY) % il L EERD XIS RAS S8
EEEH|| monpn, . ., , £f§§§%
BiEY EENER Fid EHIER e |emEan St miers  |ena, o
:975°¢4:7)
EieES 54 2 164 57 56 2 6 1 9
BigES 64 301 140 1 32 &t
H 118 2 164 358 196 2 1 38 1 9 889
FEXLH (RiEY) % EXAH i EERMXILHE RASSCIB
EEEHN| oo, o , oz
B i2EDHE gapr |l swrza a7 BREAY|  Tree VL Gl =2 &TETA E
7 i X E:310)
RBxX{cht
LilESE EisE | BIEE BE % EisE | BiEE || EEE | RIETE B8 EisE | BiEE || EfEE | RIEE B8 EiR EifE | BT BE B8 ER =
B FF T 8 5 26 12 58 7 13 1 4 1 28 80 26 1 135
ELt&EAT 6 1 5 2 6 6 1 2 3 1 16 11 5 1 33
#R B 2 4 4 3 9 4 13
IEThH 14 10 6 12 13 1 14 36 6 56
KA 2 1 4 6 1 2 1 3 10 4 17
EiET 1 4 2 1 10 3 2 2 5 16 4 25
A7 LI R 2 4 15 5 22 3 10 1 2 10 38 16 64
eatth 2 7 1 2 10 6 22 3 1 10 42 1 1 54
SE g 1 6 4 1 11 1 5 2 3 24 4 31
HWRT 3 2 5 8 44 2 12 4 13 62 5 80
LER™H 1 1 6 1 4 1 1 3 10 1 1 15
ER bl T 10 14 1 40 15 51 4 14 3 1 2 29 82 1 41 2 155
R 2 1 2 4 1 1 2 8 1 11
1)1 = 4ERET 1 2 1 5 6 1 1 13 2 16
B)IIfT 1 2 1 4 1 1 1 2 5 1 2 1 11
5 AT 2 3 30 5 25 6 11 3 13 42 30 85
FAERAT 1 1 10 7 1 1 18 1 20
=L)IET 1 6 2 8 2 1 2 12 6 20
FRFNMET 5 1 1 5 6
BEER 0
FaEHT 0
BEHHA 1 1 2 1 3 2 5
(ITLsbri o) 1 3 1 1 3 2 1 6
SR+ 7 3 1 7 4 11
= O HET 1 6 7 11 2 1 1 1 13 10 6 1 30
INEH 1 1 1
FHRWL# 1 1 2 2
BT 4 2% 4 2 6
&t 55 64 2 166 57 301 68 142 3 0 2 6 32 1 9 186 541 2 170 9 9083%

K1GD UL AN EBOTRIHICFES 5186, TETFR OEH A BN EL-TINET . GIESR)
X - BB - RXALZ(RT) D282 OVWTIK, R ELGHIHBREDONTIVET,




